

#### Billing Address:

DURHAM COUNTY SHERIFF 510 S DILLARD ST, 3RD FLOOR DURHAM NC, 27701 Billing Email: fiscalservices@durhamsheriff.org

Customer: DURHAM COUNTY SHERIFF Contact Name: Vincent Ritter Contact Email: VJRitter@durhamsheriff.org Contact Phone: (919) 560-7479 Quote Name: Combined Mobile Video Quote Date: 2024-09-15 Expiration Date: 2024-12-19 Contract Name: 680D NC Sheriff's Association

# Quote Number: QUOTE-2761963

Quote Created By: Joseph Knox Sr. Account Manager Joseph.Knox@motorolasolutions.com 910-800-0832

Currency: USD

Payment Terms: 30 NET Terms and Conditions: 680D NC Sheriff's Association **Price Exception Notes:** This quote contains items with approved price exceptions applied against them. There are some items within the quote that are at \$0 and not listed specifically on the contract. These items are part of the video bundle provided to Durham County at no cost.

Line #	ltem Number	Description	Quantity	Term	Unit List Price	Ext. List Price	Unit Sale Price	Ext. Sale Price	Refresh Duration
	Video as a Service								
		VIDEOMANAGER EL CLOUD, ANNUAL UNLIMITED STORAGE PER BODY WORN							
1	WGC02001-VAAS	CAMERA VAAS.	143	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
2	WGB-0138AAS	TRANSFER STATION, 8 SLOTS, FOR V300/V700 VAAS.	28		\$0.00	\$0.00	\$0.00	\$0.00	
3	AAS-BWC-XFS-DOC	V300/V700 TRANSFER STATION - VIDEO-AS-A- SERVICE.	27	5 YEAR	\$1,800.00	\$48,600.00	\$1,800.00	\$48,600.00	
4	WGB-0740A	V700 BODY WORN CAMERA VERIZON READY.	143		\$0.00	\$0.00	\$0.00	\$0.00	3 YEAR
5	LSV07S03512A	ESSENTIAL SERVICE WITH ACCIDENTAL DAMAGE AND ADVANCED REPLACEMENT.	143	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
6	SWV07S03593A	SOFTWARE ENHANCEMENTS.	143	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
7	WGP02950	V700 BATTERY, 3.8V, 4180MAH, REMOVABLE.	143		\$137.50		\$110.00	\$15,730.00	
		M500 IN-CAR SYSTEM WITH BODY WORN CAMERA AND VIDEO MANAGER EL CLOUD - 5	142	EVEAD	¢12 500 00	¢1 020 500 00	¢12 500 00	¢1 020 500 00	
8	AAS-M5-BWC-5YR WGW00122-301	YEARS VIDEO-AS-A-SERVICE. MOBILE VIDEO DEPLOYMENT SERVICES.	143 78000	5 YEAR	\$13,500.00	\$1,930,500.00 \$97,500.00	\$13,500.00 \$1.00	\$1,930,500.00 \$78,000.00	
5	WGW00122-501	VIDEOMANAGER EL CLOUD, ANNUAL UNLIMITED STORAGE PER IN-CAR VIDEO	78000		\$1.25	\$57,300.00	\$1.00	\$78,000.00	
10	WGC02002-VAAS	SYSTEM WITH 2 CAMERAS VAAS.	143	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
11	WGB-0178AAS	VIDEO EQUIPMENT, V700 USB DESKTOP DOCK VAAS.	56		\$0.00	\$0.00	\$0.00	\$0.00	

## **ATTACHMENT 1A**

Line #	ltem Number	Description	Quantity	Term	Unit List Price	Ext. List Price	Unit Sale Price	Ext. Sale Price	Refresh
									Duration
12	WGB-0703A	M500 ICV SYSTEM, V300 WIFI DOCK, SPS.	143		\$0.00	\$0.00	\$0.00	\$0.00	
13	WGW00502	M500 EXTENDED WARRANTY.	143	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
		MTIK CONF							
14	WGB-0189A	KIT,802.11AC,M500POE,5GHZANT.	143		\$0.00	\$0.00	\$0.00	\$0.00	
15	WGP01394-001	4RE/M500 RADIO ANTENNA CABLE, 17FT.	143		\$0.00	\$0.00	\$0.00	\$0.00	
						,			
16	WGA00668-KIT	V700 LOCKING MOLLE MNT WITH BWC BOX.	143		\$0.00	\$0.00	\$0.00	\$0.00	
		V300/V700 USB CHARGE/UPLOAD DOCK -							
17	AAS-BWC-USB-DOC	VIDEO-AS-A-SERVICE.	56	5 YEAR	\$240.00	\$13,440.00	\$240.00	\$13,440.00	
		LOCKING MOLLE MOUNT, V300/V700 BWC,							
18	WGA00668	BLACK.	100		\$98.75	\$9,875.00	\$79.00	\$7,900.00	
		IN-CAR SYSTEM INSTALLATION (PER UNIT							
19	WGW00121	CHARGE).	143		\$812.50	\$116,187.50	\$1,062.50	\$151,937.50	
	VideoManager EL or EX: Video Evidence								
	Management								
		UPLOAD APPLIANCE, SVR 1U, 60 CONCRNT							
20	WGA00421-501	DEV.	4		\$4,812.50	\$19,250.00	\$3,850.00	\$15,400.00	
		EXTENDED WARRANTY, UPLOAD SERVER							
		EL.COM (WGA00421-501), FULL SERVICE ON							
21	WGW00140-100	SITE, 5-YEAR (MONTHS 37-60).	4	5 YEARS	\$812.50	\$3,250.00	\$650.00	\$2,600.00	
	Standalone Items								
		SHIRT MAGNETIC MOUNT, V300/V700 BWC,							
22	WGP02798C	BLACK.	243		\$86.25	\$20,958.75	\$69.00	\$16,767.00	
		JACKET MAGNETIC MOUNT, V300/V700							
23	WGP03085B	BWC, BLACK.	73		\$120.00	\$8,760.00	\$96.00	\$7,008.00	
	Video as a Service								
		VIDEOMANAGER EL CLOUD, ANNUAL							
		UNLIMITED STORAGE PER BODY WORN							
1	WGC02001-VAAS	CAMERA VAAS.	50	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
		TRANSFER STATION, 8 SLOTS, FOR							
2	WGB-0138AAS	V300/V700 VAAS.	1		\$0.00	\$0.00	\$0.00	\$0.00	
3	WGB-0740A	V700 BODY WORN CAMERA VERIZON READY.	50		\$0.00	\$0.00	\$0.00	\$0.00	3 YEAR
		ESSENTIAL SERVICE WITH ACCIDENTAL							
4	LSV07S03512A	DAMAGE AND ADVANCED REPLACEMENT.	50	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
5	SWV07S03593A	SOFTWARE ENHANCEMENTS.	50	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
		V700 BATTERY, 3.8V, 4180MAH,							
6	WGP02950	REMOVABLE.	50		\$137.50	\$6,875.00	\$110.00	\$5,500.00	
		M500 IN-CAR SYSTEM WITH BODY WORN							
		CAMERA AND VIDEO MANAGER EL CLOUD - 5							
7	AAS-M5-BWC-5YR	YEARS VIDEO-AS-A-SERVICE.	50	5 YEAR	\$13,500.00	\$675,000.00	\$13,500.00	\$675,000.00	
8	WGW00122-301	MOBILE VIDEO DEPLOYMENT SERVICES.	100000		\$1.25	\$125,000.00	\$1.00	\$100,000.00	

## **ATTACHMENT 1A**

Line #	ltem Number	Description	Quantity	Term	Unit List Price	Ext. List Price	Unit Sale Price	Ext. Sale Price	Refresh Duration
		VIDEOMANAGER EL CLOUD, ANNUAL							
		UNLIMITED STORAGE PER IN-CAR VIDEO							
9	WGC02002-VAAS	SYSTEM WITH 2 CAMERAS VAAS.	50	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
10	WGB-0703A		50		ćo oo	¢0.00	ć0.00	ćo oo	
10	WGW00502	M500 ICV SYSTEM, V300 WIFI DOCK, SPS. M500 EXTENDED WARRANTY.	50	5 YEAR	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
<u></u>	W3W00302	MISOU EXTENDED WARRANTY.	50	STEAK	ŞU.UU	\$0.00	\$0.00	\$0.00	
12	WGB-0189A	KIT,802.11AC,M500POE,5GHZANT.	50		\$0.00	\$0.00	\$0.00	\$0.00	
12	WGB-0189A	KI1,802.11AC,MISOUPOE,SGHZANT.	50		\$0.00	\$0.00	\$0.00	\$0.00	
13	WGP01394-001	4RE/M500 RADIO ANTENNA CABLE, 17FT.	50		\$0.00	\$0.00	\$0.00	\$0.00	
14	SSV00S04235A	SOFTWARE,EXPORT TO AXON.	1	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
15	ISV00S04236A	DEPLOY AXON INTERFACE.	1		\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	
-					, ,	, ,	. ,	,,	
16	WGP03085-KIT	V700 JACKET MAG MOUNT WITH BWC BOX.	50		\$0.00	\$0.00	\$0.00	\$0.00	
		IN-CAR SYSTEM INSTALLATION (PER UNIT							
17	WGW00121	CHARGE).	50		\$812.50	\$40,625.00	\$1,062.50	\$53,125.00	
	Video as a Service								
		BODY WORN CAMERA AND VIDEO MANAGER							
18	AAS-BWC-5YR-001	EL CLOUD - 5 YEARS VIDEO-AS-A-SERVICE.	50	5 YEAR	\$4,140.00	\$207,000.00	\$4,140.00	\$207,000.00	
		VIDEOMANAGER EL CLOUD, ANNUAL							
		UNLIMITED STORAGE PER BODY WORN							
19	WGC02001-VAAS	CAMERA VAAS.	50	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
20	W/CD 07404		50		\$0.00	¢0.00	ć0.00	ćo oo	3 YEAR
20	WGB-0740A	V700 BODY WORN CAMERA VERIZON READY.	50		\$0.00	\$0.00	\$0.00	\$0.00	3 YEAR
		ESSENTIAL SERVICE WITH ACCIDENTAL							
21	LSV07S03512A	DAMAGE AND ADVANCED REPLACEMENT.	50	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
21 22	SWV07S03593A	SOFTWARE ENHANCEMENTS.	50	5 YEAR	\$0.00	\$0.00	\$0.00	\$0.00	
22	3WV07303393A	SOFTWARE ENHANCEMENTS.	30	JTEAN	Ş0.00	\$0.00	\$0.00	\$0.00	
23	WGP03085-KIT	V700 JACKET MAG MOUNT WITH BWC BOX.	50		\$0.00	\$0.00	\$0.00	\$0.00	
	M500		50		<i><i>v</i>0100</i>	çoloo	ç di d d	çoice	
		MTIK CONF							
24	WGB-0189A	KIT,802.11AC,M500POE,5GHZANT.	4		\$410.00	\$1,640.00	\$328.00	\$1,312.00	
25	WGB-0717A	M500 ICV SYSTEM, FRONT/2XCABIN/REAR.	4		\$7,819.00	\$31,276.00	\$6,255.20	\$25,020.80	
26	WGW00502	M500 EXTENDED WARRANTY.	4	5 YEAR	\$1,519.00	\$6,076.00	\$1,215.20	\$4,860.80	
27	WGB-0190A	HIFI MIC MUTABLE KIT W BKTS, CAT5 CABLE.	4		\$450.00	\$1,800.00	\$360.00	\$1,440.00	
		IN-CAR SYSTEM INSTALLATION (PER UNIT			1	40.000	<b>.</b>		
28	WGW00121	CHARGE).	4		\$812.50	\$3,250.00	\$1,062.50	\$4,250.00	
	VideoManager EL or EX: Video Evidence								
	Management	VIDEOMANAGER EL CLOUD, ANNUAL							
		UNLIMITED STORAGE PER IN-CAR VIDEO							
29	WGC02002	SYSTEM WITH 2 CAMERAS.	4	5 YEAR	\$5,593.75	\$22,375.00	\$4,475.00	\$17,900.00	
23	WGC02002	STSTEIVE WITH Z CAIVIERAS.	4	DIEAR	\$5,593.75	۶ <i>22,</i> 375.00	\$4,475.00	\$11,900.00	

## **ATTACHMENT 1A**

Line #	ltem Number	Description	Quantity	Term	Unit List Price	Ext. List Price	Unit Sale Price	Ext. Sale Price	Refresh Duration
		VIDEOMANAGER EL CLOUD, ANNUAL							
		UNLIMITED STORAGE FOR IN-CAR VIDEO							
30	WGC02003	SYSTEM PER ADDITIONAL CAMERA.	8	5 YEAR	\$2,656.25	\$21,250.00	\$2,125.00	\$17,000.00	
•		MOBILE VIDEO SYSTEM ADMINISTRATOR -							
31	SSV07S03605A	REMOTE - 50 HOURS.	1	5 YEAR	\$54,000.00	\$54,000.00	\$43,200.00	\$43,200.00	
	Vigilant								
		INVESTIGATIVE DATA PLATFORM - ANNUAL							
		SUBSCRIPTION FOR 101 TO 200 SWORN -							
32	TT4152A	STATE AND LOCAL.	5		\$19,250.00	\$96,250.00	\$19,250.00	\$96,250.00	
		BASIC REMOTE SUPPORT FOR WG LPR							
33	DDN3420A	LICENSE.	5		\$500.00	\$2 <i>,</i> 500.00	\$500.00	\$2,500.00	
34	DDN3421A	M500 BASIC ALPR VAAS.	965		\$516.00	\$497,940.00	\$516.00	\$497,940.00	
		Durham County Sheriff's Office Bulk Purchase							
	Incentive	Discount (Vaild through 12/19/2024)						-\$389,328.62	

\_\_\_\_\_

Subtotal	\$3,652,852.48
Estimated Tax	\$273,963.94
Estimated Freight	\$0.00
Grand Total	\$3,926,816.42

Pricing Summary (pre-tax)				
Year 1	\$1,392,671.00			
Year 2	\$565,045.37			
Year 3	\$565,045.37			
Year 4	\$565,045.37			
Year 5	\$565,045.37			
Grant Total	\$3,652,852.48			

\_\_\_\_\_

Pricing Summary (Including Estimated Tax)			
Year 1	\$1,497,121.34		
Year 2	\$607,423.77		
Year 3	\$607,423.77		
Year 4	\$607,423.77		
Year 5	\$607,423.77		
Grant Total	\$3,926,816.42		

\_\_\_\_\_